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0.5m] 0.02 |<0.01]0.01 {0.01 ]0.01 ] 0.01 | 0.02 0.5m]0.01 |0.02 |0.02 [{0.01 |0.08 | 0.03 ] o0.01
10m 0.01 [€0.01]0.01 0.01 | 0.02 10m 0.02 | 0.02 | 0.02 0.02 | 0.01
2014 | 20m 0.02 | 0.01 0.01 | 002 | 10/16] 20m 0.01 [ 0.02 0.02 | 0.01
4/14 1 30m 0.02 | 0.01 0.01 | 0.02 30m 0.02 | 0.02 0.02 | 0.01
JE/Z] 0.05 [0.02 | 0.01 |[<0.01|0.02 | <0.01| 0.01 JEZ]0.02 [ 0.02 [<0.01]0.01 |0.01 ] 0.01] 0.01
7KZE| 7m | 23m | 50m | 78m | 16m HKE| 6m | 24m [ 47m | 77m | 13m
0.5m|<0.01 {<0.01 |<0.01 |[<0.01 |[<0.01 ] <0.01] 0.02 0.5m]0.02 |0.02 |0.02 [{0.02 |0.02 | 0.02 ] o.01
10m <0.01 {<0.01 |<0.01 <0.01] 0.02 10m 0.02 | 0.02 | 0.02 0.02 | 0.01
5/13 | 20m <0.01 [0.01 <0.01] 0.02 J11/17]20m 0.02 | 0.03 0.02 | 0.01
30m <0.01 [0.01 <0.01] 0.02 30m 0.01 | 0.01 0.01 | 0.01
JE/Z| 0.02 [<0.01 [<0.01 |<0.01 [<0.01]<0.01| 0.01 JEEJE] 0.04 | 0.02 | 0.01 | 0.01 [0.02 | 0.01 ] 0.01
7KiZE| 6m | 23m | 46m | 78m | 13m HKE| Tm | 21m [ 47m | 77m | 12m
0.5m|<0.01 [<0.01] 0.02 | 0.02 | 0.02] 0.01 | 0.02 0.5m]0.02 |0.03 |0.03 [0.03 |0.03 ] 0.03] o.01
10m 0.03 | 0.03 | 0.04 0.03 | 0.02 10m 0.03 | 0.03 | 0.03 0.03 | 0.01
6/17 | 20m 0.01 | 0.01 0.01 | 002 |12/15]20m 0.03 | 0.02 0.03 | 0.01
30m <0.01 [0.01 <0.01] 0.02 30m 0.03 | 0.03 0.03 ]| 0.01
JEE| 0.02 | 0.02 |[<0.01| 0.02 | 0.04] 0.02 | 0.02 JEEE] 0.05 | 0.03 | 0.02 | 0.02 [0.03 | 0.02 | 0.01
JKiE| 6m | 22m | 49m | 77m | 13m HKE| Tm | 24m [ 50m | 77m | 16m
0.5m[<0.01| 0.02 | 0.02 |[<0.01 [ 0.01 ] 0.01 | 0.01 0.5m]0.03 |0.02 |0.02 [{0.02 |0.02 | 0.02 ] o.01
10m 0.03 | 0.03 | 0.04 0.04 | 0.02 10m 0.02 | 0.03 | 0.03 0.02 | 0.01
7/15 | 20m 0.02 |<0.01 0.01 | 002 | 2015 | 20m 0.02 | 0.02 0.02 | 0.01
30m <0.01 [0.01 <0.01] 0.01 1/14 | 30m 0.02 | 0.02 0.02 | 0.02
JE/E| 0.02 [<0.01| 0.02 |[<0.01 | 0.05]<0.01| 0.01 JEEfE] 0.04 | 0.02 | 0.02 | 0.02 [0.02 | 0.02 | 0.01
7KiZE| 6m | 23m | 46m | 77m | 14m JKiE| 6m | 21m [ 48m | 78m | 10m
0.5m|] 0.04 (<0.01 |<0.01| 0.02 | 0.02 ] 0.02 | 0.01 0.5m| 0.01 |<0.01]0.01 |0.01 [0.01 ] 0.01 ] 0.01
10m <0.01] 0.02 | 0.02 0.02 | 0.01 10m <0.01(0.02 | 0.01 0.01 | 0.01
8/18 | 20m <0.01 | 0.01 <0.01] 0.01 | 2/16 | 20m <0.01 [£0.01 <0.01] 0.01
30m 0.02 | 0.02 0.02 | 0.01 30m <0.01]0.01 0.01 | 0.01
JEZ] 0.13 [<0.01| 0.01 | 0.01 | 0.03] 0.01 | 0.01 JEE/E] 0.02 [ 0.01 | 0.01 |[<0.01|0.01 |<0.01] 0.02
KZE| Tm | 23m | 48m | 77m | 13m HKE| Tm | 21m [ 49m | 77m | 15m
0.5m|] 0.02 [<0.01 |<0.01 | 0.01 |[<0.01]<0.01] 0.01 0.5m] 0.01 |0.01 |0.02 [0.01 |0.02 | 0.01 | 0.02
10m <0.01 [€0.01] 0.01 <0.01] 0.02 10m 0.01 | 0.01 | 0.01 0.01 | 0.02
9/16 | 20m <0.01 [0.01 <0.01] 0.02 ] 3/16 | 20m 0.01 | 0.01 0.01 | 0.02
30m <0.01 [0.01 <0.01] 0.01 30m 0.01 | 0.01 0.01 | 0.02
JE/E| 0.02 [<0.01 [<0.01| 0.01 | 0.02] 0.01 | 0.02 JEE/E] 0.02 [0.01 |0.01 |0.01 [0.02 | 0.01 ] 0.02
KZE| 6m [ 21m | 47m | 77m | 9m JKiE| 6m | 23m [ 47m | 78m | 16m
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